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—.Detine the following terms :
(1) Buffer capacity
(2) Parts per million ( ppm )
(3) Volhard method
(4) Isoelectric point
(5) Kjeldah] method
(6) Chelating agent

—.(a)What mass of AgNO,( 169.9 g/mol )is needed to convert 2.33 g of

(30% )

Na,CO;( 106.0 g/mol ) to Ag,CO,? (b)What mass of Ag,CO,(275.7

g/mol ) will be formed?

=.Calculate the standard deviation of the result of
4.10(£0.02) x 0.0050(+0.0001)

= 0.0104( ?)
1.97(0.04)

(10% )

(5%)

79 .Calculate the solubility of Ba(10,), in a solution prepared by mixing,

200 mL of 0.0100 M Ba(NO;), with 100 mL of 0.100 M NalO,.

( Note : Ksp for Ba(10,), is 1.57x107)

(10 %)

4 .Calculate the hydronium ion concentration in 0.120 M nitrous acid .

The principal equilibrium is

HNO, + H,0 === H,0"+NO,
( Note :Ka for nitrous acid is 7.1x10™)

(10% )

>~ .Calculate the thermodynamic potential of the following cell and

indicate whether it is galvanic or electrolytic.

(10% )

Pt | UO,*(0.0150 M), U™(10.200 M ),H'( 0.0300 M ) || Fe?*( 0.0100

M), Fe’*( 0.0250 M ) | Pt

The two half-reactions are
Fe’* + ¢ = Fe!
UO," +4H " +2¢ = U"  +2H,0

E°= -+0.

E°= +0
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